y = ym sin(kx — ot)

=2 o’ v (ym)2

P
P, ¢
=| 2y _cos— [sin| kx — ot ——
Y (yf“ 2) ( 2)

y = 2¥m (sin kx) (cos wt)

fo= n=123,.
2L
v=+rB/p

s =s_cos(kx — o)

AP = AP sin(kx — wt)

AP = pveS
- Power
Area
1
= *p(wSm)zv
2
1
B=10log —
I,
f’:f(Vi:VDJ
v+ v
A
AL =
27 227
nv
fn = — n=1.3,5,..
47

F

9
T =—T,+32,T =T, +273
5 C K C

AL 1
L AT
Q=mcAT
QZmL
L =Q-W
Peona =k A AT/L
PV =nRT = NkT
w=/PdVv
W=nRTInv/mW)
3RT
V [

ms M
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I 2 3

—mv =—"k,T

2 2

AEin =n C, AT

Cp C,=R . y= Cp/cv
Q=nC, AT
Q=nC,AT

PV' =constant , TV""

= constant

_Q
Qu

— > F=qE

X—X0=V0t+1/2a'[2
V=V, t+at

V2= (Vo) + 2a(X — Xo)
U=-PE,©T=PxE

¢, = §E.dl&:qi

€9

Surface
E= kQ
R 3

, I=JA

R=—
I

L
=p— ,J=0cE
pA
p=p,[1+aT-Ty)], P=1IV

q(t) = Cg[1 - t/RC]
qt)=go ¢

U=-iB
= Mo 1dsxTr -
dB=— , ds=p,1
471: I § “’0 enc
B_ ﬂol B_ lLt(ll
4 i 2w
_HoLiaib
®  2xd
B = puni
® =]B-dA
E=-—2,E=BLv

dt

€= 8.85 x 10™* C*/N.m"
k=19.0 x 10° N.m*/C?

Q. =-1.6x10"C
me=9.11 x 10" kg

m, = 1.67 x 10" kg

1o =41 x 107 Wb/A. m
I, =10"*W/nf

1 atm=1.01 x 10° N/m’
R =28.31 J/mol. K

micro = 10 , hano = 10°
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